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SYLLABUS - PHYSICS
FOR GROUP ‘X’ (TECHNICAL TRADES)

Topic
Physical World and Measurement
Kinematics
Laws of Motion
Work, Energy and Power
Motion of System of Particles and Rigid Body.
Gravitation
Properties of Bulk Matter
Thermodynamics
Behaviour of Perfect Gases and Kinetic Theory of Gases.
Oscillations and Waves
Electrostatics
Current Electricity
Magnetic Effects of Current and Magnetism
Electromagnetic Induction and Alternating Current
Electro Magnetic Waves
Optics
Dual Nature of Matter and Radiation
Atoms and Nuclei
Electronic Devices

Communication Systems
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PHYSICS

Q.1.

Q.2.

Q.3.

Q.4.

Q.5.

Q.6.

Q.7.

U U2 @0 a § Uk g 99 ¥ T B2 781 € | IS HE! o a1l &Y a1 S a1 a7 gae &
aTE qAT I g H Ua, YU & @Ol Bl S S & |

A body is moving in a circular path with acceleration a. If its velocity gets doubled then find
the ratio of acceleration after and before the change of velocity ?
(A) 1:4 (B)1:2 (© 21 (D) 4:1

Ans: D

T IR § I AT SARe AET Sl IREH &l Rafd 2 -

Weightlessness of an astronaut moving in a satellite is a situation of -

(A) I3 7 / Zero velocity (B) &1 TR &t / No gravity
(C) 91 Heidl / Zero mass (D) 9o =9 ¥ AT / Free fall
Ans: D

a9 deM W, Hfatad § 3 6T o1g &l gfre gedr © 2
For which of the following metals, the resistance decreases on increasing the temperature ?
(A) draT / Copper (B) 2= / Tungsten
(C) STH=W / Germanium (D) TegHIT=M / Aluminium
Ans: C

Yl & G gal 9T T4 S0l A1 & ?
What is the angle of dip at magnetic poles of earth ?
(A) I /Zero (B) 45° (C) 90° (D) 180°
Ans: C

U A TEDE & & eradd g 99 4 T B & | 37 IRBA A0 [ J F
fpm 97 (97 781 T ' 2

A charge moves in a circle perpendicular to a magnetic field. Upon which of the following,
the time period of revolution, does not depend ?

(A) T & / Magnetic field (B) 37941 / Charge
(C) % & MM / Mass of the particle (D) @91 @l a7 / Velocity of the particle
Ans : D

U A4 Dl YTATY] HEAT Z T7 A1) S M & | =T bl Jed 3d &0 |
Atomic number of a nucleus is Z and atomic mass is M. Find the number of neutrons.
(A) M-z (B) M ©z (D) M+Z

Ans : A

el 4Ry ¥ Uk mH R 49 e & & S R T TR unuy @
FEd & |
The electrical circuit, used to get smooth dc output from a rectifier circuit is called
(A) EIferr / Oscillator (B) et / Filter
(C) 9a<i® / Amplifier (D) @9T& T2 / Logic gate
Ans : B



Q.8.

Q.9.

Q.10.

Q.11.

Q.12.

Q.13.

Q.14.
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Two bodies of 2 Kg & 4 Kg are moving with velocities 20 m/s and 10 m/s respectively
towards each other under mutual gravitational attraction. Find the velocity of their centre of
mass in m/s.

(A)5 (B) 6 (© 8 (D) A / Zero

Ans . D
T B ATl 2 T @l Ue [Mivad e & Ave gUE Bt r ¥ | 39 7 @ MW @ 35 4 g
S & |

The radius of gyration of a solid sphere of radius r about a certain axis is r. Find the
distance of this axis from the centre of the sphere.

(A) 1 (B) 0.5r (C) o4 (D) ~o.2r
Ans : C
e JAT & T § 99 § F & A1 &Y T8l © ?

Which of the following statements is correct, in case of adiabatic expansion?

(A) AU =0 (B) AU ==%ITTdh ; negative
(C) AU = gdTdH% ; positive (D) AW =0
Ans : B
A G T B T2 Topl H07 @t a7 e Rafq @ BT % |
The velocity of a particle, executing S.H.M, is at its mean position.
(A) A& / maximum (B) =LTH / minimum
(C) 31 / infinity (D) I3 / zero
Ans @ A

2 91% &R ol U U=l Udh UH Jrehid & § 71 Sl & Sl 2 Ha0s H 4 /4 F qraidd
&Y 8 IEY/MI° &1 Sl & | gueel 4 URd fegd ares &« ad & |

A coil of an area 2 m? is placed in a magnetic field which changes from 4 Wb/m? to 8 Wb/m?
in 2 seconds. Find the induced e.m.f. in the coil.
(A) 4V (B) 5V (C) 6V (D)7 V

Ans : A

I¢ gfeRdT T E1T Jeimadl € &l fa 91 | gRdfd foar a2, el & |
The process by which an alternating current is converted into direct current is called .
(A) gIFEF / Purification (B) aTare / Amplification
(C) [ew=ea®?1 / Rectification (D) 9T 31 / Current amplification

Ans: C

S AT 41 T YR JEd THE & [0 S8l aimged 5000 A° % A1 35 BRI Sd B |
If the threshold wavelength for photoelectric effect on sodium metal is 5000A° then find its
work function.
(A) 15 J (B) 4x107°J (C) 4x10™ (D) 4x107%]

Ans: B
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Q.15. =1 A BT f6H T FALOT ENT U ¥ H AL ¥ 0 HaAl ATl € ?

Through which mode of wave propagation, are the radio waves sent from one place to
another ?

(A) {W 7T / ground wave propagation

(B) 2 T T / sky wave propagation

(C) 3fdfel T TA70T / space wave propagation
(D) I9re A4 / all of the above

Ans : D
Q.16. T9T YIS &l TEEH UITH 41 & ?
What is the wavelength range of visible light ?
(A) 4x10'm-8x10"m (B) 4x10°m—8x10"°m
(C) 4x10°m—-8x10°m (D) 4x10°m—-8x10"m
Ans : A

Q.17. AEEE TEEIERYT i &l [owe T &1 2 2
What is the dimensional formula for the universal gravitational constant ?
(A) MLOT (B) MLT™ (C) MILT? (D) M°L°T®
Ans @ A

Q.18. 2T W&l &l FMI: h TIT 2h Tdls F FRRI A1 2 | 3% &R SWH dd 9gad 4 [0 T 59 &l

ST T 86T 2

Two balls are dropped from heights h and 2h respectively. What would be the ratio of times

taken by the balls to reach the earth ?

(A)V2:1 (B) 1:+/2 (C) 2:1 (D) 4:119
Ans : B

Q.19. 1@ U R @ 2 AT Frar A & ol g Fal 100 9@ & | g 37 3R 2 1 Fidr g

Sl 4 e S @l Ferdl &1l ?

When a spring is stretched by 2 cm, the energy stored is 100 J. If it is stretched further by

2 cm, its energy increases by .
(A) 300 (B) 400 (C) 200 (D) 100
Ans @ A

Q.20. Ul &l Y& TG {ohH ATH 9T A &I ?
At what temperature, will the surface tension of water, be minimum ?
(A) 0°C (B) 25°C (C) 60°C (D) 75°C
Ans : D

Q.21. ST %l 2 Fal &l M FAI: 1 541 9 1.5 1 & | &FI & 32T 3@ AR Bl ST =1 & |

Diameters of 2 water drops are 1cm and 1.5 cm respectively. Find the ratio of excess

pressures inside them.
(A) 11 (B) 5:3 (C) 3:2 (D) 2:3
Ans: C



Q.22.

Q.23.

Q.24.

Q.25.

7 & fgde vanT § #i=aw garaTr (A =5898 A) &1 9T &l 5T 92 e T 2l & | At fopdt
3 9HIT (A =5461A) @ YAWT &7 a1 U Uai @l J%m o & |

In Young’s double slit experiment, using sodium light (A =5898 A), 92 fringes are seen. If
another colour (A =5461A) is used then find the number of fringes.

(A) 62 (B) 99 (C) 67 (D) 85

Ans : B
3l FA=T Wief & [&Wd A -10V Td +30V § | A Wil & drd bl §31 2 40 2l dl Wiel & 92
ferege & =i & |

Two plates are at potentials -10V and +30V. If the separation between the plates is 2 cm
then find the electric field between them.

(A) 2000 V/m (B) 1000 V/m (C) 500 V/im (D) 3000 V/m

Ans : A
fopiT eeell § a5 @1 UaI @ & (o S AT YT & 0 9 Il 19T S TP (ol Sy
ol el @ fawe eman |

If red light is replaced by blue light illuminating the object in a microscope, the resolving
power of the microscope

(A) g2 ST / will decrease | (B) @ ST / will increases

(C) 3Tl 21 A1 / will get halved (D) 3r9dfcd 724 /will remain unchanged
Ans: B

TEuTAivae, T & T & al [dioree SOl @l S % T A1 T B 2

In gases of diatomic molecules, Find the ratio of the two specific heat of gases &.

(A) 1.66 (B) 1.33 © 14 (D) 1.00
Ans : C



